S
o)
X

de

-2-13

91-2-07 91-2-08

+46800
+47200

+32400

91-2-12 | 91-2-13

91-2-17 91-2-18

¥6°0 8.'S O ¥ 0Gl

iR #l

RERR

----------- RAZER

BRER

CELET

(g ) —

E&%

L1 ¥

B

| RE - HAVE

b Hens

""""" 7%y b

e pogzvEi-N (200)

68.6 2)
3,66  (1.97
8161 VU T.831

puBevd- (300)

0F2vE—N

182v&—=N

282 &=

3Fev-N

452k

582/ E—=N

65Ty F—N

Bliosf-=N

%252 vd-N

B3ET RN

]

BAET RN

B5ETyR—N

#6852y —

BTETy RN

0 37.00 0.60 1.00

15p 5.80 0.50 0.80

E-EkFBER<T -V

150 27.30 1.00 0.94

I

i N

@

ERBER< -0

o
N
n
o
o1
IS
N
BN
O
| =

\ \ \

B vd-N

~ ///

VA A

BB N D = Hf

REALL (LiR)

REALL (F#)

REAL (FiR)

ez

LA oy

HHvyd-N

% 9=l

RE2 Y F—

RABFRB v =

HRERR< Y -V

HERBC Y E—

AL S

25 KM

REN RV

AN=Y: Y E T

610075 Kbt

ele|ole|o|e|QV[X[*x0|00 X E LS DW®EN®® G0 ®0HEL®0C0®06®e

$ 30075 Kt

ONONG) ° REEDA

SNCHoNecNoNoNeNe

LB

OO0O0000o0 O

Al (—#)

OO0O0000O0OO OO
~ = <7 ~ V) C) () <> () C)

i

"

—

5%Y

@@ @® @ LW

Y (—#)

/G/G/o/

vu BILE - %

cP B’%

HP ta—b%

DCIP I VEEN N1

Q)

nE

c =PV 2

SuSs A7V VARE

\\\\\\\\\R\\‘\\*—‘-‘_

RV ) TREBIE = — %

S A b g

=== |
Ratis=

+46800

.oov209¥L90

5 5k o =\

100 TERRIZ, #RAPBEAR ISR

[TTTTITTT1 w i w | (m) 91_2_13




